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Part I: Writing (30 marks)
1. an email to the company 100-120 words (15 marks)
2. story writing competition 100-120 words (15 marks)

For both 1 & 2 a possible marking scheme:
Use the attached WRITING ASSESSMENT RATING SHEET (15 MARKS)

Part Il: Reading Comprehension (30 marks)
Passage 1

A. Choose the best answer according to Passage 1. (5x1=5 marks)
|. D.unnecessary  2.A. Melilla 3.C. transport 4.B. reusable shopping bags a.D. animals lose their...
B.TRUE or FALSE. (5 x 1 =5 marks)
[.TRUE 2. FALSE  3.TRUE 4 TRUE 5. FALSE

C.Complete the paragraph based on Passage 1. Use ONE word for
each gap. (5 x 1 =5 marks)

(1) difficult / hard ~ (2)awareness (3)energy  (4)temperature () pattern(s)/conditions

Just because the § picks the answers from the text, and is examined in comprehending a long text leading
to quided summary,do not penalize for minor mistakes in spelling... e.g.(l) dificult  (2)awarenes
(3)enegy  (4)temperatre (a) patterns etc.

..0f course as long as the meaning is not distorted due to horrible spelling or word misunderstanding:
e.q.(l) difult  (2) aware (3)enecy (4) temperament (D) patting etc

PASSAGE 2 DISCOVER AMERICA: CALIFORNIA
D.For questions 1-6 below choose from the texts a-h, ....... (6x1=6
marks)

lh 2e 3d 4e af hba

E.Match the meaning of the..... 5x1=5 marks)
l=e, 2=d, 3=a, 4=b, 3=c OR l|=e. 2=d, 3=a, 4=b, D=,

F. Match (1-4) with (a-e)... (4 x 1 =4 marks)

[=d, 2=e, 3=a. 4=b cisunsuitable.
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PART Ill: USE OF ENGLISH (40 MARKYS)

A.Complete the second sentence so that it has a similar n...(5 x 1 =5 marks)
Mark is lost if something is missing ONLY from the words in bold.
. This time next year. |  will be / am going to be  sixteen.
2. VYesterday. dad asked me if | had seen  his wallet.

3. | wish |could / wish | was able to / wish | would be able to / wish | could or would
manage to come to your birthday next week
4. The beds in the hotel room are made ( by them) every day.

Jane wishes she had taken/had/brought an umbrella with her.

B. Read the text below and decide which option .... (10 x 1 = 10 marks)
I.A had 2.8.since 3.D. read 4.B.who  4&.C. However B. A. were watching
1.B. was 8.8 has beentaking ~ 8.C.areflying  10. C. which

C.Match to make sentences. There are TWO ... (5 x 1 =5 marks)
1=d, 2=g, 3=a, 4=c, 5=e Db&f arenottobe used

D. Read the questions and choose the... (5 x 1 =5 marks)
b 28 3c 4b oa
E. Read the text below and fill in ... (5 x 1 =5 marks)

Not even one spelling mistake will be overlooked... e.g. abologise/tastless/anoying

|. (CAREless) 2. (TASTEless), 3. (ANNOYing). 4. (APOLOGise).  &. (TIRed).

F.Read the text below and choose the best option ... (10 x 1 = 10 marks)
[.D.last 2 R.surf 3. A. connects 4.D. castle a. B. popular
B. D. haunt T.A legend  8.D. optimistic 9.C. walls 10. B. remarkable

Note that, in certain cases, alternative answers were also suggested and accepted during the
coordination session with the markers.
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